the 3 5402 tehd 4 gk AL BE 12 529

@ o] dolrty <l B4tz o] B9 2] doli= 12 ©|t}.

© 300 ¥#ta] 227 2 7Het 100 Y#ta] A" x 9
7427 0] 1800 o]t
© A& 50km & y A7 -5¢H 29 A= 250km o]tk

@ x o 2¥j &= 7 B}t Fot

ONQ) ® 0,0 ® 9,0
® 09,0,6 ® 066



ohe % w740 groll whak Aol 57 atw A%lo] Hl7]E ah
54 BT T2H)

®7+6=12 @ 3+x=4-x

® 5x=0 @ x*+x-2

® 4(x-2) = -8 +4x



D 2x=10
@ 12-Tx=Tx+12

® 4(2-3x) =-12x+8

@ 3(1-2x)=-x-5

@ 1+x-2x=x



4. 2x+4=ax+2b 7bx o] i FSAHL W, a + b & Fh2?

@® -3 @ -2 ® -1 @ 0 ®1



o] 7\1-01_']_’_!_)(
SHax+l=b-xc=x=-24 = 3
ab °] 3f2?

@ -2 @ -1 @ 0 @1



(¢}

=

oo

% 874 e A

tlo

e

ru

AL

@ ac=bcolHa+1=0b+1
f:Xotn]4 —
© a=bolH2a=a+b

@ gzbomﬂ_m:sz

@ a-b=x-y°lHa-x=b-y

60 006 006 ®06 0066




(¢}

=

5 #7 g AL

oo

@O a+b=x+y°lHa-y=ux-boJth

@ 3-x=2-y©°|H6-2x=4-2y o]t}
® a+7=b+5°Ha+1=b-10°JT}
@ x=y,a=h
® 3x=5y°|H



e % £& ALY
1
© ~2x =108 x=— olc,

@ 2a = 4b °]H a = 2b ot}
® a=2p°lHa+1=2(b+1)°|th
@ 3 =3 old2r=3yolet.

® ac =bc ©|H a =b °]t}.



